H = 0ol & AF S Al A
20083 =04 Q230012 SN
S ST E
H: R0 ZMEEE
CHo: o230 At(OI230012 SH3IH) (o M2l
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
SNE=Ein’ 243,900, 000 233, 000, 000 10, 900, 000
ELIPIEXCETES] 243,900, 000 233, 000, 000 10, 900, 000
o230 A(AB20IIZ2 EL3H) 243,900, 000 233, 000, 000 10, 900, 000
I230IAY =X HAAY 18,200 18, 200 0
201 LBt A 5, 000 5,000 0
01 AIR22IHI 5,000 5,000 0
o9 = 5,000
202 04| 13,200 13, 200 0
01 =2LHoiHl 13,200 13, 200 0
02230013 g2=x = 13, 200
ABBORBH MAL2Z L ASL LRI S 720, 000 600, 000 120, 000
201 LBt 720, 000 600, 000 120, 000
01 ArR22IHI 720, 000 600, 000 120, 000
O2AZ2Z2HESHIMAILELE X2 = 420, 000
(= 280, 000]
(= 140, 000]
02230124l X2 S A+4+2 300,000,000 = 300, 000
(= 200, 000]
(= 100, 000]
o230l L #IA2IH XA 1,080, 000 1,200, 000 A 120,000
308 AHXIEHHISOIA 1,080, 000 1,200, 000 A 120,000
01 RXESHBMEES 1,080, 000 1,200, 000 A 120,000
02230t ¢ #Hy2AlH X = 1,080, 000
(= 960, 000]
(= 120, 000]
ZOHILEI| R X 1,620, 000 1,800, 000 A 180, 000
308 AHXIEHHISOIA 1,620, 000 1,800, 000 180, 000
01 RXESHBMEES 1,620, 000 1,800, 000 A 180, 000
OFOHALHIR X = 1,620, 000
(= 1, 440, 000]
(= 180, 000]




2N =XE
HE: 20D ZMEE
g o250 AM(ESHIIZ SESIAH) (ctel A&
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
o= =AY ollgldl 61, 800 581, 800 2520, 000
801 olldIdl 61, 800 581, 800 520,000
01 olldlyl 61, 800 581, 800 A 520, 000
oollgligl = 61, 800
olzgddZdl X3 240, 400, 000 228, 800, 000 11, 600, 000
307 glztol s 240, 400, 000 228, 800, 000 11, 600, 000
05 QIZtLIEZ 240, 400, 000 228, 800, 000 11, 600, 000
Ofzz0&ZHl =2 X3 = 237,400, 000
[= 189,920, 000]
= 47, 480, 000]
OHZMERH HE=S X= = 3, 000, 000
(2 2, 400, 000]
== 600, 000]




